

$$3(b) \int \frac{1}{(6x+7)^6} dx$$

$$= \int (6x+7)^{-6} dx$$

using again above mention formula

$$= \frac{1}{6} \int (6x+7)^{-6} (6) dx \rightarrow *$$

$$\left(\frac{1}{x} \times x = 1 \right)$$

$$= \frac{1}{6} \int \frac{(6x+7)^{-6+1}}{-6+1} + C$$

$$\int \frac{1}{(6x+7)^6} dx = -\frac{1}{30} (6x+7)^{-5} + C$$

$$(a) \int \frac{1}{\sqrt{x^3}} dx$$

$$= \int \frac{1}{(x^3)^{1/2}} dx$$

$$= \int \frac{1}{x^{3/2}} dx$$

$$= \int x^{-3/2} dx$$

use formula $\int x^n dx = \frac{x^{n+1}}{n+1} + C$

$$= \frac{x^{-3/2+1}}{-3/2+1} + C$$

$$= \frac{x^{-1/2}}{-1/2} + C$$

$$\int \frac{1}{\sqrt{x^3}} dx = \frac{-2}{\sqrt{x}} + C$$

Date: / /

$$2(b) \quad y = \sqrt{\frac{1-x}{1+x}} \quad \text{--- (1)}$$

$$\text{Let } u = \frac{1-x}{1+x}$$

$$\Rightarrow y = \sqrt{u} \quad \text{--- (2)}$$

$$1) \Rightarrow \frac{du}{dx} = \frac{(1+x)(-1) - (1-x)(1)}{(1+x)^2}$$

$$\frac{du}{dx} = \frac{-1-x-1+x}{(1+x)^2}$$

$$\frac{du}{dx} = \frac{-2}{(1+x)^2}$$

$$2) \Rightarrow \frac{dy}{du} = \frac{1}{2\sqrt{u}}$$

Using chain rule

$$\frac{dy}{dx} = \frac{dy}{du} \cdot \frac{du}{dx}$$

$$\Rightarrow \frac{dy}{dx} = \frac{1}{2\sqrt{u}} \times \frac{-2}{(1+x)^2}$$

$$\text{Use } u = \frac{1-x}{1+x}$$

$$\Rightarrow \frac{dy}{dx} = \frac{1}{2\sqrt{\frac{1-x}{1+x}}} \times \frac{-2}{(1+x)^2}$$

$$\Rightarrow \frac{dy}{dx} = \frac{-1}{(1+x)^{3/2}}$$

$$y = (1 + 2\sqrt{x})^3 \cdot x^{2/3}$$

2(a) Let $x = u$

$$\Rightarrow y = (1 + 2\sqrt{u})^3 \cdot u^{2/3}$$

Solution

$$\frac{dy}{du} = (1 + 2\sqrt{u})^3 \left[\frac{2}{3} u^{2/3} + u^{2/3} \cdot 3(1 + 2\sqrt{u}) \right]$$

$$\frac{dy}{du} = (1 + 2\sqrt{u})^3 \left[\frac{2}{3} u^{-1/3} + 3 u^{1/3} (1 + 2\sqrt{u}) \right]$$

$$\frac{du}{dx} = 1$$

By using chain rule

$$\frac{dy}{dx} = \frac{dy}{du} \times \frac{du}{dx}$$

$$= (1 + 2\sqrt{u})^3 \left[\left(\frac{2}{3} u^{-1/3} + 3 u^{1/3} (1 + 2\sqrt{u}) \right) \right] \quad (1)$$

$$\Rightarrow \frac{dy}{dx} = (1 + 2\sqrt{u})^3 \left[\frac{2}{3} (1 + 2\sqrt{u}) u^{-1/3} + 3 u^{1/3} \right]$$

Use $u = x$

$$\Rightarrow \frac{dy}{dx} = (1 + 2\sqrt{x})^3 \left[\frac{2}{3} (1 + 2\sqrt{x}) x^{-1/3} + 3 x^{1/3} \right]$$

1(b) $\frac{(x^2+1)^2}{x^2-1}$

Solution
Again we use Quotient rule

$$= \frac{(x^2-1) \frac{d}{dx} (x^2+1)^2 - (x^2+1)^2 \frac{d}{dx} (x^2-1)}{(x^2-1)^2}$$

$$= \frac{(x^2-1) \cdot 2(x^2+1)(2x) - (x^2+1)^2 \cdot (2x)}{(x^2-1)^2}$$

$$= \frac{2x(x^2+1) [2(x^2-1) - (x^2+1)]}{(x^2-1)^2}$$

$$= \frac{2x(x^2+1) [2x^2 - 2 - x^2 - 1]}{(x^2-1)^2}$$

$$= \frac{2x(x^2+1)(x^2-3)}{(x^2-1)^2}$$

2(a) y
Le
=>
So
 $\frac{dy}{du}$
 $\frac{dy}{du}$
By
 $\frac{dy}{dx}$
=>
=>

Name: Naqeebullah Khan

Id : 16898

Department: BS (CS)

Date: 28-04-2020

$$1(a) \frac{d}{dx} \left(\frac{2x^3 - 3x^2 + 5}{x^2 + 1} \right)$$

Solution

Using quotient rule we have

$$= \frac{(x^2 + 1) \frac{d}{dx} (2x^3 - 3x^2 + 5) - (2x^3 - 3x^2 + 5) \frac{d}{dx} (x^2 + 1)}{(x^2 + 1)^2}$$

$$= \frac{(x^2 + 1)(6x^2 - 6x) - (2x^3 - 3x^2 + 5)(2x)}{(x^2 + 1)^2}$$

$$= \frac{6x(x^2 + 1)(x - 1) - (2x^3 + 3x^2 + 5)(2x)}{(x^2 + 1)^2}$$

$$= \frac{2x \left\{ 3x(x^2 + 1)(x - 1) - (2x^3 + 3x^2 + 5) \right\}}{(x^2 + 1)^2}$$